
Q.l'. ()odc:

Reg. No:

'f inrc: 3 hoLrrs

I9t IS0ti3-l
I

Rl 9l
-l

SIDDI{AII,TH INSTITUTE OF ENGINEEIIING & TECHNOLOGY:: PUTTUIT
(ArJ'roNoMoLls)

B. Tech ll Year I Semester Supplementary Examinations December-2021
NUMERICAL METHODS AND TRANSFORMS

(Electronics and Communication Engineering)

Max. Marks: (r0

J.

(Answer all Irive Units 5 x 12 = 60 Marks)

Using Newton-Raphson methoa (;)nina square root of 28

(i;) Ein0 reciprocal of 15.

OR
a) From the following table values of xand y =sinx.lnterpolate values of y

whenx:0.12.
x 0.10 0.15 0.20 0.2s 0.30

v 0.0998 0.1494 0. I 986 0.2474 0.2955

b) Use Newton's backward interpolation forrnula to find./ (32) given

f (zs1:0.2707,./ (:o; = 0.3027, /.(ts1: 0.3386 and / (+o) = 0.31e4 .

Solvey" -*(y')'*y2 =0using R-K method of 4't'order for x=0.2 given

/(0):1 and /'(0):0 taking h=0.2.
OR

4

a) Evaluate ter dx by Simpson's rule with 12 sub divisions.
0

7

b) Evaluate tx'logx d-rusing Trapezoidal rule and Simpson's 3/8 rule by
3

taking 10 sub divisions.

a) Find the Laplace transform of f (t): cosha/ sinbt

b) Find the Laplace transform of f (t) ='1r-' cost dt .

oo*

Solve the D.E. y" + 2 y' -t y = 3 t e-' using Laplace Transform given that y (0) = 4,

/'(0):0.
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7. a) Obtain thc Irouricr scries expzu-rsion of ./ (x):.tr2 in the inlcrrzal(0.2n). Lz 6M

b) Obtainthelrourierscriesexpansionof/(x):(r-r')i,',thcintcrvall-n- rl. LZ 6M
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9. a) liilcl tlrcl:6uric;cssirrelralslir;prol'/(.r)=]l-.r. l<r<2 Ll 6M

[0. .v > 2

h) I)rovc thal /, [' I (. l: -*1i., (r,)] L2 6MuI
OR

L,' -..'. ,.1'l < ,t
10. Find the Fourier translbrm ol'l ( r): I 

- , I I Ilencc show tl-rat Ll 12M' 10. l.il>a>0

i sin .r - )' cos -\' , tr
I u.\:-.
| .i'' 4

Q.l'. Code: l9l{S0tl34
ol{

tt. a) lrrpanci ./ (,t) = <,' rls il liouricr st:ries in lhe intcn,al (- l" l) . l'2 (tM

lr) Fincl the hull'range cc'rsine series exparrsion o1'/ (x) -- *(2-x)in0 <,r < 2. Ll (rM

*** END *r,<*
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